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TELUGU

€08 IBHER) IBD 5. 01 0& (5. 04 0% JIFEROR I EIre Kot R TPaod.

& . FT D0 TP SO eserd’D Trvdrestaead” 1931 K0[|S° 0T, Jr) DR SBD0WDEN DHSB HADH
D0C EDT® G5 TPOOTE. BIORRE0, TTPER P50, SEE HH0BTADeD, @%OSR@ 500D HBRAD 559 @%@S’o&ww&.
DB DFOES RS VDS o0& JTV® e 1982 S, RIS et 1988 & ©DoBR0. DD @RS SodB G
GO DEDTEADOS” 5T EDETTHD, BEROBB0 216 GTm0e Beid D DEPAD PO OB TP SEHORD VS T0DB.

001. & 2. TPOPAHENBE B3RODD e DD DDEI?
(1) 580K (2) €Bosrd (3)  eBorerdd (4) ®Sos

002. o d. roraHeBE BIvEH BosRERR MBSO
(1) r&esw (2) wmodso (3)  ~redRerd (4) o378

003. o 2. PoraDEdGS ”a;é?;é et ©9oDD [of| IB?
(1) 1931 (2) 1980 (3) 1982 (4) 1988

004. <ox00 Sasy 89 eatg;fbg)geﬁ’?

(1) oRpobsy, (2) OWSPD 00y (3) SO, (4) D&z
005.  rrivor Bo8 sarary 5630672

(1) e (2) esodo (3)  Kordd (4) 8o
006. e, e, e, PR DES” ST ErIERE oKD DSB8 ?

(1) oo (2) e (3) e (4)  oesootd
007. 208 523 05 3T0E H0w0B0D SRy 180D,

(1) & (2) 8 (3) o (4) e
008. 206 ore3¢® Q) a8 S0 TEIE?

(1) %28 Jreotd ago (2)  e0% Hgo avy

(3) B0 Do KHBIG0 (4) o°e Ay, 2olvo
009. 208 oS Dm0 R BEER) HBoBOG.

(1) 2o%e%0 (2) oedreoho (3)  QAdoacd (4) @28
010. 208 ore3&" 06 3D SER), TODOG.

(1) [©50°8e0 (2) DL (3) &dsoven (4) &ov HBo
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011.

808 78S D083 TSR, 10980506

(1) odnd Do 5630

(2) by Jreo SR8

(3) B Jrod §, dokty 588
(4) eaedc 2read0 TPk SR @

012, <oorg 98,030 S8dmen E85me’ &8 TEHINS D ©eoseE0 KoK ?

(1) TPV BP0 (2)  ©0@0Rrd0 (3)  HTEORrBd0 (4) Iseo@ensn
013.  sSosssre 5)B80S’R Keasnd ?

(l) ;6’ &;” 2;5) &, &’) &;” é (2> 2;5) 6’ é’ 8;5’ 2;5) 6’ ‘;ﬁ

3 0,8, 8,0, D, 0,3 (4) 2,883 8 81
014, 5800 @m0 56308 6@ ew, HEDE [E307)) H8oSE.

(1) IUI (2) Ul (3) MU (4) UuUl
015. 208 03¢ ersseerad 90200809 TR 1080506

(1) 83 grgroben § 0 (2)  esc 583 orabroc

(3) o 90 oo (4) O Do
016. anHs0s 5288 ooy BRS° AY AMD 5 O TrEmomTRS 30856 ?

(1) 58 (2 sy (3) 8ad (4) 8 o
017. 35, 3w, B, 63 DAS® FEE RIS DOBS DR, HBoBO

(1) 3% (2) e (3) &30 (4) e
018. 30, 2oxw - 0, Dot — eS8, e’ DS B0 HOA SO BenSod.

(1) eoshesd, e (2) 3, sw (3) 2%, Dok (4) D&
019. 208 536" essgBos FEBE?

(1) eedctd I (2) e &8B0 TR

(3) % Bocky §°8 (4) Do rHED DGoDB
020.  »® 5580 Y, SooOH SIrODH I0sRE B2

(1) oogosw (2) S350 (3) =treo (4)  Howbso
021. 35755 2nch ' S8 P08 rBowod.

(1) S3resds (2) &5 (3)  Bssedds (4) (Hed
022, 206 388s5mre sBoS® HBBNE A8 B2

(1) D08°50 X es50850 (2) >8XEE

(3) QBF0NO X 900 (4) escoaso X QoeEo50
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023. 208 o8& Bdrs varR, HBoB0s.

024, e S06r DRS00 Y, TITOH POPOFOBD SEBD I ?
(1)  Soscsseoe (2) &awow (3)  s8owoe (4)  eseofRoe

025.  sxpod’ &x) 580 SrRsDHE S8 D66 B2
D) B8R0 (2)  Bgssso (3) Eersdo (4)  osy@sso

026. 208 7283 0IERE $00FOSRD TR MHBOBOE.
@B RIAGH (@)  Jyren (3) e (4)  duysen

027. 205 53¢ SoRerad $020802H HHI0E?
(1) D8eN (2)  20® (3) eren (4)  a5erow

028.  Banp Sowy AR ey IB?
(1 sy (@ e (3 3o (4) e

029. o555 Hoer 20038 B D DarrBion 50d BFR8 BEHEE R, FHoDK?
€D S (2)  erdoR (3)  dowb 3 (4)  DoweS dPoh

030. 5085 HEPS A8 D Derrod grEBEs, et eoBR?
(1)  daer 3650 (2)  AmaNTGH0 (3)  erub o (4) =R Pofs o

Ep ST CT IR

Read the following passage carefully and select the most correct answers of the given questions:
(Q. No. 031 to 035)

Though it may be essential to the imagination, traveling is necessary to an understanding of men. Only
with long experience and the opening of his wares on many a beach where his language is not spoken,
will the merchant come to know the worth of what he carries, and what is parochial and what is universal
in his choice. Such delicate goods as justice, love and honour, courtesy, and indeed all the things we care
for, are valid everywhere but they are variously moulded and often differently handled, and sometimes
nearly unrecognizable, if you meet them in a foreign land, and the art of learning fundamental common
values is perhaps the greatest gain of traveling to those who wish to live at ease among their fellows.

031. According to the passage, traveling leads to -
(1)  exploiting foreign lands.
(2)  selling our wares to the others.
(3)  understanding human nature
(4)  establishing our superiority over foreigners
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032.

033.

034.

03s.

036.

037.

038.

039.

040.

041.

042.

When we meet other people while we travel, we learn to differentiate between
(1)  friends and foes (2) communities and nationalities
(3)  local and universal values (4) imagination and understanding

The writer terms justice, love, honour and courtesy as delicate goods because they are
(1)  important (2) desirable (3) fragile (4) perishable

Traveling helps those who

(1)  want to learn foreign language

(2)  wish to make money

(3)  want to resolve differences among people
(4)  wish to learn fundamental common values

The things we care for are available in foreign lands in
(1)  plenty (2) unrecognizable forms
(3)  some form or the other (4) easily recognizable forms

Choose the sentence in which the correct articles are used :

(1)  The old are respected by the young (2) An old is respected by a young
(3)  Old are respected by the young (4) The old is respected by the young
Choose the correct ‘prepositions’ to fill in the blanks in the given sentence :

Don’t side those who act contrary national interest.

(1)  for, against (2) to, to (3) to, with (4) with, to

Choose the word nearest in meaning to the underlined word in the given sentence :
There was no ostensible reason for her being angry at her husband’s remarks.

(1)  Hidden (2) Covert (3) Apparent (4) Secret
Choose the word opposite in meaning to the given word :

‘Exasperate’

(1)  Belittle (2) Annoy (3) Tarnish (4) Please
Fill in the blank with the appropriate passive form of the verb from the alternatives supplied :
He a written test before he was appointed.

(1)  had been given (2) has been given

(3)  will be given (4) was given

Choose the correct alternative to fill in the blank :

I if I were you.

(1)  will apologize (2) had apologized

(3)  would apologize (4) was apologizing

Choose the alternative showing the correct indirect narration of the given ‘Direct speech’.
The old man said to him, “Is your father’s name Manoj?”’

(A)  The old man told him whether his father’s name was Manoj.

(B)  The old man inquired whether his father’s name was Manoj.

(C)  The old man asked him whether his father’s name was Manoj.

(1)  Only ‘B’ is correct (2) Only ‘C’ is correct

(3) Both ‘B’ and ‘C’ are correct (4) Only ‘A’ is correct
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043. Identify the figure of speech in the following line :
‘O grave ! Where is thy victory ?”
(1)  Personification (2) Apostrophe (3) Euphemism (4) Epigram

044. Identify the part of the sentence which has an error.
He is well up / these days despite / having ill health / No error
A B C D

(A 2 B 3 C “4 D

045. Name the underlined ‘clause’ in the given sentence :
We come here that we may study.
(1)  Adverb clause of place (2) Adverb clause of purpose
(3)  Adverb clause of supposition (4) Adverb clause of cause

046. Choose the one which is the correct ‘Question Tag’ for the given sentence :
‘Everything is fine’.
(1)  isn’t everything? (2) isn’t this? (3) isn’tit? (4) isn’t that?

047. Choose the mis-spelt word :
(1)  Asterisk (2) Audience (3) Acrue (4) Almighty

048. Choose the alternative which best expresses the underlined phrase :
He is out and out a reactionary.

(1)  deadly against (2) in favour of (3) no more (4) thorough
049. Select the combination of numbers so that alphabets arranged accordingly will form a meaningful
word :
A S K 1 R H
1 2 3 4 5 6
(1) 264315 (2) 543126 3) 513426 (4) 312645
050. Select the combination of numbers so that the parts arranged accordingly will form a meaningful
sentence:
1. engaged in other 2. they are 3. because 4. it is difficult
5. servants in big cities 6. to find man 7. profitable professions
(1) 4617352 (2) 2534671 3) 4653217 (4) 7132546

051. State what part of speech is the underlined word :
She likes the same colour as I do.
(1)  Adverb (2) Relative pronoun(3) Preposition (4) Conjunction

052. What does the underlined modal auxiliary express?
If it should rain, they will not come.
(1)  Supposition (2) Duty (3) Suggestion (4) Advice

053.  Which of the following pairs is not correctly matched as ‘one - word substitution’?
(1)  Absence of government - anarchy
(2)  Government by the nobles - autonomy
(3)  Government by one - autocracy
(4)  Government by the officials - bureaucracy
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054. Choose the grammatically correct sentence :
(1)  The population of London is greater than any city in India
(2)  The population of London is greater than any other city in India
(3)  The population of London is greater than that of any city in India
(4)  The population of London is greater than most other cities in India.

0S5. Choose the correct alternative :
(A) Canvass shoes are no longer in vogue.
(B) Candidates are not allowed to canvas for votes on the day of the election.
(1)  Only ‘A’ is correct (2) Only ‘B’ is correct
(3) Both ‘A’ and ‘B’ are correct (4) Both ‘A’ and ‘B’ are wrong

056. Choose the odd man out :
(1)  Trousers (2) Alms (3) Scissors (4) Innings

057. Choose the alternative which best expresses the meaning of the underlined idiom :
Monika’s habit of picking holes in every relationship is very irksome.

(1)  Admiring people (2) Finding fault

(3)  Criticizing people (4) Arguing with people
058. The specialist who cares and treats feet is -

(1)  Osteopath (2) Orthopaedist

(3)  Chiropodist (4) Dermatologist

059. Which of the following is a rhetorical question?
(1)  Should a school have a gymnasium?
(2)  How should one keep oneself physically fit?
(3)  Isn’tit a shame to torture the weak ?
(4)  What is demonetization?

060. Choose the correct simple sentence for the given sentence.
He finished his exercise and put away his books.
(1)  Having finished his exercise, he put away his books.
(2)  He finished his exercise by putting away his books.
(3)  To finish his exercise, he put away his books.
(4)  In spite of finishing his exercise, he put away his books.

TSt

031. ST GISU I1 AT ITRIR hIvrdT ?

(1) <m o (2) eI UTEw (3) anr 9w (4) 3fiaTed TR
032, TEAREHER T 6 HIVAT ?
(1)  Yererhtor (2) Yu=w (3) Yt (4) Yuah

033. @, &, d, |, o, T, d 8 favedigcay o foawerda amea?
(1) fodrem-gen (2) efrn-agefi (3) fefer-=meff  (4) e
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034.

035.

036.

037.

038.

039.

040.

041.

042.

043.

044.

045.

046.

047.

048.

JIAHER 3T oIl TeqAe! AT,

(1) -9 (2) G9I-941 (3)  HIYO-HTYOT (4)
foraTIee w9 et qefia gElt, TqHeRfoTt, Tl @ Tada STHOTRT SR Shivrd ?
(1) ol (2) wddl (3) W@ (4)
Feu gameft et € T SRl Jieh WA SRive Yehnd 31Tg ?

(1) drerer (2) smm (3) Haarf (4)
RraTe ‘emTEe’ A1 U HIUCHT TArT 61 e GG TR ?

(1) ¥q Amed (2) wd AR (3) @d gHNm (4)
3cehe TEHT ek ShidMT ol SEfU=T Ireqr=aT Yad! hivid formfeg a=me ?

(1) srmofrg (2) gmfeE (3) wwrg (4)
I-J-F-F g 01 FHOM g HIvd ?

(1) sgasn (2) SR (3) e (4)
IYHATCAT IYHATEE IUAT Teeft STd de8T iUl SAABN Bl ?

(1) g==a (2)  fcrmmverdt (3) oI (4)
ToreTa g1 wivre @ TR 3R ?

(1) (2) ym (3) wIHh (4)
AT 1 AT 3T foRIYOT hivrd ?

(1) «EREr (2) ufew (3) R (4)
HY A @A 3. I I hid Al

(1)  faydepres (2) dfadureres (3) dfqufasreres (4)
&Y Gefie 3eE INeEl.

(1) T (2) =d@ (3) faeehra (4)
TCYEY HTETA 316g SeSEl.

(1) Jemrerdt (2) TER (3) wEETR (4)
I AT Segren el wreg <hvTAr ?

(1) = (2) (3) @am (4)
foreganefl wregh o= A St v ?

(1) &'l X Tehra (2) ‘T X & (3) 3rEEE X @Y (4)
3T WIeg INNe3ET.

(1) ey (2) ermefim (3) eTeEE (4)

AR

gy X 9y
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049. feoieh v quf 0. ‘Sarh @relt diedt et

(1) Ul =g (2) e e (3) wEt #S (4) droaTEt 2Tt
050. ‘THRGE AT AeHN TG HIU?

(1) fa. ar. Rremgs (2) TITEHR (3) 9. 3o (4) TR TRl
051. ‘TieT Ydidiel Iorell’ 31 hIeTEURH shell I ?

(1) sgfoa wwi (2) fogse s (3) gwwe (4) =
052. HEYTIF TIegEd SAsEl.

(1) &t (2) gEaE (3) @& (4) ca
053. UAUYH TEUITRl 1 Jaehl el ST, AERIIHT e,

(1) hacar (2) CIFAEE (3) TosamR (4) TR
054. RUTE IT VeIl UL SAi3ET.

(1) == (2) = (3) # (4) W
055. 3T /aa M1 uA fafgamn v steeh qrEAT forgran ?

(1) fadeasy (2) fadwy (3) ey (4) drefeasy
056. TUS! IUHTAIA 371, 3T: IMT M Fgurdid ¢

(1) <wEeE (2) g (3) =H (4) wreg
057. ‘U AT YA AT I Ih ALY eSET.

(1) —-uu (2) —-uU (3) —uU- (4) u-U

WAl 3aWT e et foemerean geameht 3w forgr. (9. . 058 @ 060)
AT 3T & Bid. Jran 7 7@, i AE ReerE 8, W ATl gad T AT e Yed 1.

3k AU BTt AN, A1 favar=an areaEA Tl Tehal Tl SRl SATETd. hidl I3 forderm AT GEed
HHIGA U, AT AT Teh S <hlere T2, FeTra A foel 3eqz: qrer Hild 318, T@id: 4! Ted
FATAT TS HUATE A1 T hdl. &g Siad - @1 g fegdl - &1 = Teh USG9t 378, TMeara

T e GRE TR, HigiSean 4 HeEarae Mkl

o
[Hao Al T‘ﬁ A HHIAT.

058. T b T& HIUAT HRUT v ?
(1) v smas (2) A (3) Y= EE (4) EfdrEl TEs
059.  TIARTHT TITSITehg ShIVTAT STGET ST ST ?
(1) hfer (2) @i (3) TR (4) wa=A
060. ST TS T SHIoTaT ?
(1) vedqd va== Tshor (2) fisiuqa @fta teeor
(3)  fadr= =M S (4) < grore fogan
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061.

062.

063.

064.

065.

066.

067.

ATAHTTHAINE d AEATYAMTE

@reft feoien faummer ardt dewia v fagm am TR ?

(1) de & AfTaa wwEt 3.

) ¢ g AR 7.

(3)  mduReeT It URETEAT HiSU YT 916 Bisd 3T T
) TURETAT HEdH TIR IO Sifdeh HeR 9t REIbE e,

et e AeTaEddicl e Hived oA df¥mesritd! Sivd faum = g ?
(1) Fasia ferygen wafavs F&@.

(2) AT TR AT HIAT-TUdn A I TehiiET STd ST,

(3) gl g 916 TR SIFThS B .

(4) g TSR g 3T,

et fectean faummes dag fowfie v faum @ T=h?

(1) «ma Sfeguepmadt mafis Taedr qrHie Tk TS HegT
(2) -« 3fgguemfaweit Fae Sofla Tt dae

(3) = Sfeguen fawef M 219 S Hee

(4) =T SfegueRTRE™ Hele ol W AT,

HUTE S Sfe@id glal Al SThdl 9 TRAYH! A1 eI 8 Al A1 GHSETEreA] WU @rdid
Ueht epiord e gt 2q Y

(1) wogien 31¢ AEaHT Thdl  ITeasH a1 gi-al MY) foemd =men anra.

(2) RIS IEEEA HA ST HIAHT haes AT TEH! TAYHT AT O T TE.
(3)  3Mehdt 9 qrvEyt AT ged B1S Wkl

(4) T 9CA IS UV eI, T TEUTAR aAed Tl

T I HHR FHAHT 1 S o STe HA:aege 3W TeTd ot ufowt g wfomn foweft @reft feete
faumiey v fagm g e

(1) o qaR goamEret ameft 39 Edelell 3TEu 3Evde 3R,

(2) ufqw TR gam aREErE ddde g,

(3) ST HremaE ded! qudEn JfHT SE BT,

(4)  FHfgAgRT Tger gom=n Haeqeh wfemn fmfea .

T ST STEO, Fod HAR I, G, JATEdiedl el & Td 3eTelvl Wiefietishl shed-eal shiuredl
YRR AT ?

(1) g Hean (2) oAt Heun

(3) =gIEIieh el (4) YIEHIGH HodHl

‘qatguaren fafay = FATded TG Sear-gd U TEUN foar Ul g T8 Hd Wiefierdehl
HIVTT AHEIERT HiSd 378 ?
(1) (2) W= (3) 9. wd. [\ (4) 4T T =
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061.

062.

063.

064.

065.

066.

067.

CHILD DEVELOPMENT & PEDAGOGY

Which of the following statement is correct about growth?

(1)  Growth is indefinite in nature.

(2)  Growth is hereditary

(3) It is not necessary that growth will occur according to the chromosomes during conception
(4)  Growth does not control the biological structure built up with the help of chromosomes.

Which of the following statements about motor development of infants incorrect?
(1)  An infant does not have emotional world.

(2)  The behaviour of a child is affected by the behaviour of his parents.

(3)  Growth of movements in children occurs from feet to head.

(4)  Children have intense memory.

Which of the following statement about sensation is not correct?

(1)  Sensation is primary mental process concerning external stimulus.
(2)  Sensation means only awareness of the external stimulus.

(3)  Sensation is getting knowledge about external stimulus.

(4)  Sensation is not possible without external stimulus.

Our perception occurs in the nature of figure and background. Which of the following statement

does not support this opinion of Gestalt psychologists?

(1)  While giving meaning to sensation, both figure and background have to be taken into
consideration.

(2)  Considering only the background while giving opinion about some object is not needed.

(3)  There can be change in figure and background.

(4)  This change is dependent on the person who is getting the experience and the nature of
the object.

When an object comes before our eyes even when the object is not there, then it is called imagery.
Which of the following statement is not correct about imagery?

(1)  Previous experience is needed for forming imagery.

(2)  Images formed are all of the same intensity.

(3)  Images become blurred as time passes.

(4)  Images are related to sensations retained by sense organs.

Which of the following type of imagination includes building bunglows of playing cards, building
palaces in air and stories of fairies and ghosts?

(1)  Aesthetic imagination (2) Fantastic imagination

(3)  Pragmatic imagination (4) Productive imagination

“Thinking means arrangement of various aspect of previous experiences in mind”’. Who put forth
this opinion of thinking?

(1)  Stern (2) Stout

(3) J.S.Ross (4) Norman L. Munn
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068.

069.

070.

071.

072.

073.

074.

075.

w@reht feetean foam wfskameeeren faammed s faam faem ufreer Stefirs ggcca Toe wid A& ?

(1) ATl =AM T 9 e R0 I1d T g .

(2) TeEry fmfor 9 SEAET FTARhed RS, TdThgd 3Tk AT AeAfOTh TATAT AT HL0!
ST 3R

(3) fosmrde fiegor, wfididiaa s, sfagmrdia ge, fafay e dimfoe aftfesrdt stemear
foeneaia fafehcas foam e Fshy g @meq.

(4) w1 e smweR frd shredl, @ foetean M Qe emRa fear AT @ e @RS

fra®e I Aieeiedn gigaa=ar 120 Teshie Ffihiul T Teld hl TR, TATdh! TshaT AT TTeTd Wiefierdeh!
ST TeHh T ATEl ?

(1) <y (2) T (3) oA (4) ugd
T I forspEmr=l SeheuT digar 37 MEeR W faen e ?

(1) Torfeery (2) uftaeraar (3) s1eEE (4) ufom
WeAldadshl & fieTies AT U9 3R ?

(1)  @rgee Suded (2) e SqOeh

(3)  wishicarh Suued! (4)  STETOTER HER U
T LTI ITAAT FTdIA AL AT Judwi geehdl __ 37Ted.

(1) oF == (2) @ @ ™ (3) wishicH (4) waié
WATAYeh! sHfFqHccaTal TRUMH HIO=T HZehiieh! BT TEHISTeh 8k 38,

(1) wifE gEson (2) w&Rdt (3) srgeEm (4) st

A foepTET=aT HIvTEl ST foaR el ait Rierehen STHaw 9 URER A1 gikgl geshian foeR wan
ANTAL. ITETES Wieftd Feht vt faem ameA s ?

(1)  sme3a Aur=n fm e faeneate gu wadien faem sgren U A aTdreRe Ul
(§)  TRMAT IUSAIT! § HAl AT WS N Tehed] STE fawar= | SHamd!.

(%) TS fohar TR AT A FTATERUT S3Hd A= STl B0,

(3) TRierhT STEATae A foemeat=an sifge HAel TR U A LA TGt Hag Hoamdrdt.
(1) &, & 3701 % (2) @1, & offr ©

(3) 4, & (4) =1, 9, % AT 8

ST AT TEISITE i AT QU1 WA THd q6d qU SEel 99d O Jaifed ST 3T8d 9 JEsane
Faq fawges 3-4 qata feoiet s@am@. < . TEUIEI.

(1) @y fgeH (2) wRe AGEH

(3)  fema SAfime™ (4) drchifares STREYT
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Following are some statements about thinking process. Which of the following statement does

not explain educational importance of thinking process?

(1) Do not establish relation between an event and its cause by coincidental judgement.

(2) It is unnecessary to use the maxims like 'known to unknown' and 'concrete to abstract' for
concept formation.

(3)  Let the students think critically while studying theorems in geometry, observation in science,
historical events and geographical conditions of various countries.

(4) It should be seen whether there is enough material for making inferences.

Guildford has arranged 120 factors of intelligence into three groups. Which of the following factor
is not included in the group "Operation"?

(1)  Cognition (2) Memory
(3)  Evaluation (4) Method
Gessel has emphasized on __ while explaining the concept of development.
(1)  Characteristic (2) Maturity
(3) Learning (4) Effect
is a formal teaching method
(1)  Instruction theory (2) Bruner’s theory
(3)  Socrate’s theory (4) Normative theory of teaching

The pioneer of cognitive theory of teaching from the group of Normative theories of teaching is

(1)  John Dewey (2) N. L. Gage (3) Socrate’s (4) Herbart

Following are factors affecting personality is a psychosocial factor.
(1)  Physical weakness (2) Culture (3) Heredity (4) Physique

A teacher has to think about both heredity and environment while thinking about human

developmental aspects.

Which of the following statements support the above statement?

(A) To provide suitable environment to students coming to school from different environments
in order to develop their inmate powers.

(B)  To provide subjects by considering each child’s inborn qualities and talents.

(C)  To enable the students coming from poor and backward classes to progress by providing
suitable environment.

(D) To enable teacher to select suitable teaching method for teaching the students and
understanding their cognitive level.

(1) A,BandC 2) A,CandD 3) B,CandD 4) A,B,CandD

The process where the subject does not have full freedom of behaviour, that is he does not have
full restriction but has limited freedom and the subject has been given 3-4 options of behaviour,
then it is called

(1)  Instrumental conditioning (2) Motor conditioning
(3)  Classical conditioning (4) Temporal conditioning
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076.

077.

078.

079.

080.

081.

082.

083.

feraean ferar TTvaT=ar adTen fafire TR TveETd! 9w fafsre adaren fafve aafila ea smfda ada
NEPTTRATRET TSI ATUTITHTS B AL YR I 3l

(1) d& (2) STHEH (3) st (4) hrEgE
AN =9IR gaTat 3TeTia ged, Seepidt, 3camal 9 fawuor g safoameear™ YR 3 ATee.
(1) fooom w=. Seeq (2) e A

(3) W (4) feoamsheq

e foware favelvu e | ded dneed 99, fafay fawam steem sam |ndia g2 9@,
om = 1TTE A, TcHed SUNT e ATl AR Tohdl T ShTeul & STeA ThHuE TR,
(1) STt 399! (2) wiforqaTdl 3qect

(3) U Ueh 39 (4) et Iugedt

WeATedehl SHIVAT YT JOTIshT=T I ShH gREed ?
(1) I, TR, SFEEAAT, GHIEH, TUdie @,
(2)  ITEEEYdl, Y, T, THAI TG0, THTEM.
(3) TR, ITEEYAT, YT, THAA TG, FHIEM.
(4)  ITEaTYd, TS, T, THAIA TG0, THTEM.

TeAreg! a WR A foeiean vrafes Jigae=an geehrdia ATyt A1 geehd @leliedeh! vl 3UEh
gy e ?

(1) 3rreaf=s (2) ITH JATCHINE

(3)  3TTcHfavaTE (4) wreARR Softe

HHRYS Fod HH HOATETS! WIefTdshl vl T I9ged el ?

(1) west=a SROMET Afad @M. (2) wewt= JHeh! SR S
(3) ITSed MEEA TR . (4) TSN AT Hooll TATdl.

oIy TS STEeeR TSRSl e Wieeideh! Shivrdt ST AR 3778 7
(1) =1 foeneata 9d= FEEMT=ETERE 379,

(2) = faeneatardt sAdia IusHH AT AETA.

(3) = fommeat wdwm= fefor SyEEAd AHET AT Ad A&

(4) = faeneatardl a9 ST ARATAHAT AT FTE!.

g TR e qTdesier 31g SIehd A1 aed Wiefl fieiedn Siesn Jesad A e g9t |,

A B
37) | sreraen ) | E M NME WA hell ald TSAdrd.
§) | SUSeTEeRT ) |+ M TgaRmEe  SAeddr.
%) | STeETEEA 1ii) | MY AT Fehd ST,
(1) A —ii,d —iii, s —i (2) F—iii,9 —i,% —ii
(3) HA—-i,9 —ii,s —iii (4) A —-ii,9 —1i,% —iii
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In order to give specific shape to human and animal behaviour and to give specific incentive

for specific behaviour, for eliciting expected behaviour from the learner, type of
teaching is useful.
(1)  Indoctrination (2) Instruction (3) Training (4) Conditioning

Classifying personality based on the secretions of the body in four classes viz - Phlegmatic,
Choleric, Sanguine and Melancholic was done by

(1)  William Sheldon (2) Carl Jung (3) Kreshmer (4) Hippocrates
Analysing the subject by understanding its principles, studying rules and formulae of various
subjects and actually preparing the rules and formulae are the aspects of of transfer of
training.

(1)  Theory of generalisation (2) Theory of formal discipline

(3)  Theory of identical elements (4) Bagley’s theory

Which of the following alternative shows the correct sequence of motivation cycle?
(1)  Attempt, Need, Restlessness, Satisfaction, Keeping balance.
(2)  Restlessness, Attempt, Need, Keeping balance, Satisfaction.
(3)  Need, Restlessness, Attempt, Keeping balance, Satisfaction.
(4)  Restlessness, Need, Attempt, Keeping balance, Satisfaction.

Which of the following is not included in the factor “Self awareness” of emotional intelligence
proposed by Salovy and Meyer?

(1)  Self control (2) Accurate self assessment

(3)  Self confidence (4) Emotional awareness

Which of the following alternative is not useful for decreasing mental conflicts?
(1)  Stay aloof from the very reasons of conflicts.

(2)  Find out the exact reasons of conflicts.

(3)  Think about the things that are avoided.

(4)  Take advice of elder person.

Which of the following aspect about the learners with special needs is correct?
(1)  The behaviour of these children is normal.

(2)  There should not be different activities in school for these children.

(3)  These children cannot be absorbed in the normal education system.

(4)  There should be independent and different curriculum for these students.

Retention occurs at various levels. Following are given levels and retention information. Which
alternative shows the correct pairs?

A B
(A) |Cognition state 1) |Some things are recalled after small attempt of remembering

(B) |Semi cognition state |ii) |Some things are recalled with great difficulty

(C) [Non-cognition state |ii1) |Some things are recalled quickly
(1) A-ii,B—iii,C—1i 2) A-ii,B—-1,C—ii
3 A-i,B-ii, C—iii 4 A-ii,B-1i, C—iii
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086.

087.

088.
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090.

SIS TETET AR UhT™ I HLAHT IISTTE TEESY, BRIV Fae 3. et e

U I hel T HIATA T TR LTI T ATAT T T T Tyl Tguram.
(1) =i (2) afhes

(3)  drcehrietsh (4) R

AN, TR, e B Gieerdshl hive e e ggaen MuRd docd 3118 ?

(1) fore wgdt (2) reed dgd

(3) YR ggdt (4) T8 TS

SISt STH Soied, YHg Meiedn fhar UEY= TR gE=AT ST |iteTd e, fa=n SATe
g gey 3117 fohar faeamsht o1maet A o1 318 WiHeH et Iufia SehvaTeT 9 WfasT Areduar Sieg

T hedl STl ot TR FLLI0T IAT 37,
(1)  wfag (2) o
(3> SHTHATST (4) drqrcHy

TEH AR FHWG 7 I IWATd ewd, ey 3.0 FemER fEed e e aed dur
B AT 3T Ud Higd HTgdargral SUReie! S Uik 3uuxll Sieficish! hive AHEsTes
T el ?

(1) < <l (2) S g

(3) offers (4) ferm

g1, iR Il S fhar foRe w1 fowemen steaATEnd! smfur foenedien qehslg foemren fashE
BIUATATS! WTCIETdehl IV Tgel e Hhree ?

(1) ==ie= (2) ufEerg

(3) EemeR (4) =a=EH

Rt Hd g TS0 Shed TEUTe SRV AT JEeiehiol 7 B0l 91 HeWid @ieierdehl Shivld fagm
gy ATE ?

(1)  veclisor T gIvaTe SR IcaTe-Tal I9Td ST,

(2) v foaeneat=h stem emar anE ga 9 UdSsiE o,

(3)  ITETIA THTAT AUETHT TS TE,

(4) FFANTd AT TG T HedTd JeeAehlol ITA B0,

@Al 9 Igmm 317 ATt Geftd SR Weh foddn AR, <= I SIS YA Shivrd ?

IUTTH I

i) | gemdt A) | sy foeneff otadm.

i) | sf=gtmit B) | s e ot@am.

i) | wyiit C) | = foes g foenefl smm stfaam.

(1) i-3A,ii—-d,iii— (2) i—-9,ii—,iii—3
(3) i-%,ii—d,iii—3 (4) i—-9,ii—31,iii—
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When a topic is studied by understanding the internal relations as well as cause and effect relations
and if after a period of time this particular unit has to be recalled then this type of memory is

called as memory.
(1)  Rote memory (2) Rational memory
(3) Immediate memory (4) Prolonged memory

Which of the following teaching method shows the principles of self learning, independence and

cooperation?
(1)  Vinetka method (2) Dalton method
(3)  Project method (4) Gary scheme

When an individual tries to stay in the viscinity of prestigious person and tries to show that he is
very close to him thereby trying to hide his own short comings and increasing his own prestige,

then this is called as type of defence mechanism.
(1)  Compensation (2) Displacement
(3)  Self punishment (4) Identification

‘New experiences mingle with the old ones as per the laws of similarity, proximity etc and form
links.” Who put forth this opinion and put forth the theory of Apperception based on associationism?
(1)  John Lock (2) John Herbart

(3)  Thorndike (4) Skinner

Which of the following method was proposed by Dr. Armstrong for teaching science subject and
development of reasoning power of the students?

(1)  Seminar (2) Symposium

(3)  Meuristic method (4) Lecture method

According to Skinner the main reason why students lag behind in studies is that there is no
reinforcement. Which of the following statement is not correct with reference to above statement?
(1)  Lack of encouragement is a reason of no reinforcement.

(2)  The learning capacity of every student is same standard and level.

(3)  Lack of revision of learning units.

(4)  Reinforcement is done properly if there is facility of personal learning method.

Following are given two columns. Match them and tell which alternative has the connect pairs?

A B
1) Pedagogy A) | Content is decided by students
1) | Androgogy B) | Content is decided by teachers
1i1) | Mutogogy C) | Content is decided by teachers and students
(1) 1i-A,ii—B,iii—-C 2) 1i-B,ii—-C,iii—A
3) i-C,ii—B,iii—-A 4) 1i—-B,ii—A,iii—-C
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092.

093.

094.

09s.

096.

097.

098.

099.

100.

v @ fagm

e e e s e
1) 431 ) 437 (3) 557 @) 571
R g: —a+b 3, W @ = fFaa fedr?

(1 4 2 -2 G -1 @ 2

12 et foigqy Stedta e fobell Brepior shrean it 7
(1) 210 (2) 240 (3) 180 4) 132

WIeAAdehl v T&3H 6, 12, 16 3 Wifiiaeard smeh 11 Tgd ?
(1) 1235 2) 1191 3) 1163 (4) 1431

WW%WWW@%.WﬂWWWW%WWW
TEd @ reheal et wimd feRdt forex amoft wdier ?

(1) 90 forex (2) 135 forex (3) 270 forex (4) 180 ferex

wﬁaﬁwwwﬁﬁmﬁaw%&w%xz+3x+z%m,atwﬁaﬁﬂnaﬁﬁﬁﬁ?
(1 x 2) x+1 3) x+3 4 x+5

(5—24/3) & T Wil SV TR 38 ?
(1)  smuie 2) ufdm
(3)  orufdE, wfiEE gl A (4) Ui

S 3 +3V=36d x+y=5T3" =Fndt ?
(1) 27 (2) 243 3) 1 4 3

AT e I AT afear=al =l Il % e AR, 12 I9HM AT 99 arear=al ceaes<al
T T 3R @ g A 99 feRdt oy ufga ?
(1) 18 (2) 36 3) 12 4) 24

TUTIRT=A1 dieeal A 20, o=1 WA 24 9 foe=n W 28 G=a1 37ed. A9FEa geateal T 40
T 3TTRd T 28 <A1 T TRUT Tobel) Gt srlia ?
(1) 128 2) 176 (3) 132 4) 180
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MATHEMATICS & SCIENCE

Which of the following is not a prime number?
(1) 431 (2) 437 (3) 557 4) 571

If \/5_'_ 1 =aq+b ﬁ, then find the value of ‘a’?
(1 4 2 -2 3 -1 4 2

How many triangles can be drawn from 12 non - collinear points?
(1) 210 (2) 240 (3) 180 (4) 132

Which of the following numbers, when it is divided by 6, 12, 16 the remainder will be 11?
(1) 1235 (2) 1191 (3) 1163 (4) 1431

% th part of water tank is filled with water. If 51 litres of water is taken out from it %th part of

water remains in it. Then how many litres of water will be remained in half of the tank?

(1) 90 litres (2) 135 litres (3) 270 litres (4) 180 litres

A base of a triangle is greater than its height. If its area is %xz +3x+2 17 , then find its height?
(1 x 2) x+1 3 x+3 4 x+5

What type of number (5—24/3) is ?
(1)  Irrational (2) Rational

(3)  Neither rational nor irrational (4) Integers

If 3" +37=36 and x+ y =35 then find 3" .
(1 27 (2) 243 3) 1 4 3

Present age of son is %times the present age of his father. 12 years hence the age of son will be
the half of the age of his father. Find the present age of son in years?
(1) 18 (2) 36 3) 12 4) 24

In a hall, there are 20 chairs in I* row, in II" row 24 and 28 chairs in III" row. There are total 40
rows in the hall then how many number of chairs in the 28" row?
(1) 128 (2) 176 (3) 132 (4) 180
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101. ATH AT A MAN, 7ed OM @ ON 2 319%d £ AMN d £ ANM 9 3uTI® AT al
m Z OMN + m £ ONM = fdfi ?

A

(1) 55° (2) 25° (3) 135° (4) 45°

102. 7 =1 wdidid gfgean 19 A9 e st fohdi?
(1) 1216 (2) 1330 (3) 2527 (4) 1463

103. @refieishl I IS TS TEAET et 317 ?
(1) 187,153 (2) 78,143 (3) 75,28 (4) 152,247

104, <Gh THAS RN Th HiH GEATAT dHIE 38 T AT A8H AT "I fehe ?
1) 30° Q) 90° 3)  60° 4)  45°

105. 5 9™ 20 e & I went fegaran ket fordt 3 ?

) 175% @ 25% 3) 22.5% @) 18%

106. X x=y3, y=%6, z=%/7 W Grcfiatsh HwK fFam g M7
(1) x>z>y 2) x>y>z B) y>z>x “4) z>x>y

107.  STS[AT 3Ahdid, SRET AR adesr=t fisam 10 Tt 318 o WWifehd MW &5hes fehefl ?

(1) 214 =@t (2) 76 e (3) 216 =EH (4) 86 =ra

108. 24 Tt ufefidi srciean =@ETan Hurle @t fohdi ?
(1) 642 &t ) 6@ (3) 12 & 4) 12¢2 @
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10s.

106.

107.

108.

In the figure, In A MAN, seg OM and seg ON are the bisectors of £ AMN and £ ANM
respectively, then find m £ OMN + m £ ONM = ?

A N

(1)  55° (2) 25° (3) 135° 4) 45°

Find the sum of first 19 numbers. Which are multiple of 7 ?
(1) 1216 (2) 1330 (3) 2527 (4) 1463

Which of the following pairs is a pair of Co-prime numbers?
(1) 187,153 (2) 78,143 (3) 75,28 (4) 152,247

In a cyclic trapezium measure of an angle is thrice the measure of other angle. What is measure
of small angles of them?
(1) 30° (2) 90° (3) 60° (4) 45°

What is a percentage of 5 hours 20 minutes with respect to a day ?

) 175% @ 2% 3) 22.5% @) 18%

If x=3, y=%6 and z= 4/7 then which statement is true statement from the following?
() x>z>y @ x>y>: (3) y>z>x @ z>x>y

In the figure, a circle of radius 10 cm. is inscribed in a square is shown. Find the area of a shaded
region.

(1) 214 cm? 2) 76 cm? (3) 216 cm? (4) 86 cm?

What is a length of a diagonal of the square whose perimeter is 24 cm?
(1) 642 cm (2) 6cm (3) 12cm (4) 12¢/2 cm
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110.

111.

112.

113.

114.

115.

116.

117.

6 HieX 9 4 Hiet 3 Wi THHSOET 25 Hied HAHR HTad. T GeTe o= 2 Ga=AT=A1 JTmRi
SIS {971 BeAferge 31 fehelt ?
1) 1.8 Q) 2.6 (3) 241 @) 1.5

TIfEe ehehgd WBAWH 11 TH 60,000 FIAT= ol odcl. ATEees dehel Tadl g sohd
ST & g i 0.5 9 & fag=n o 481 0.5 7 i heam™ dH aui=an Iae] dreeren TROT fehdt

GhY ST HUE] AN ?
(1) 77,800 (2) 78,900 (3) 68,900 4) 70,900

8 Tt e rEcie Tufgys Frepmeh afefifd 0.18 et 3R W == & wes TR ?
(1) 24 =t (2) 12 <ed (3) 20 =R (4) 24 =

STAAET MN qeste o8 & W AM & Tafien 38, SRAN = 25 8, AD = 9 9. T agesr=it e fordt 7

N

A M >

(1) 10@Ht (2) 16 Tt (3) 345 (4) 15 ot

T geherdial 36 faeneafe auedt s 14 a¥ o1mg. iy fiesfacama = e auEd 99 U 4 ded
W® s o= forct a8 o ?
(1) 36a8 (2) 48ad (3) 42ad (4) S1ad

S g forshl fohad grae shefl T AT fa-Ye HIedT™ kel AT fohdl Bsel 7
(1 75% (2) 150 % (3) 100 % 4) 60 %

Arrefte Syart 2014 = A9l 18,200 ¥ fHesreft, foaem store 14,950 €9 fesvamandt fordt feam
W HUd AA ?
(1 19 (2) 18 (3) 23 4) 26

A=A Wi ATedi= 9T Shieeh FRIv ST = 01 61 &6l 9 T o] 11 & TR, 45 &t 3=
FEUT= AEfedien fadesed 10 ¥ = 9 21 St 3= SrEemr=a fohdl gaferd! TOR Bt ¢
() 11 2) 9 3) 7 4 12

ot —xy:2xy—y*=6:1, Wx:y = TRl ?
1) 3:2 @) 5:2 3) 3:5 @) 1:3
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Two poles of height 6 meter and 4 meter are sets up on a ground at a distance of 25 meters from
each other. What is a height of a point of intersection of line segment joining the foot of one pole
and top of the other pole?

(1) 1.8m (2) 2.6m 3) 24m 4) 15m

Sahil taken a loan of Rs. 60,000 from a bank at the rate of 11% p.c.p.a with simple interest. Due
to demonitization the liquidity of a bank is increased. Hence bank reduces it’s rate of interest on
a loan by 0.5% for 11" year and again 0.5% for I1I" year. What will be the net amount Sahil has
to pay after third year to a bank?

(1) Rs. 77,800 (2) Rs. 78,900 (3) Rs. 68,900 (4) Rs. 70,900

Perimeter of an isosceles triangles of base 8 cm is 0.18 meters. What is the area of a triangle?
(1) 24 cm? 2) 12cm? 3) 20m? 4) 24m?

In the figure seg MN is a diameter of a circle and line AM is it’s tangent. If AN = 25 cm,
seg AD =9 cm. Find the radius of a circle?

N

v

A M

(1) 10 cm (2) 16 cm 3) 34cm (4) 15cm

Average age of 36 students in a division is 14 years. If age of their class teacher is added in it
average of age is increases by 1. What is age of their class teacher?
(1) 36 years (2) 48 years (3) 42 years (4) 51 years

If selling price of an article is doubled, the profit accured becomes three times. What will be the
percentage of profit ?
(1) 75% 2) 150% (3) 100 % 4) 60%

Rs. 18,200 is a wages of Sayali earned in February 2014. If she wants still more wages of 14,950.
How many days more she has to work?
(H 19 (2) 18 3) 23 (4) 26

Base of a solid metallic prism is right angled triangle, with hypotenuse 61 cm and if one side of
itis 11 cm. height of prism is 45 cm. It is melted and right circular solid cylinder of diameter 10
cm and of height of 21 cm are made from it. How many such right circular cylinder can be made?
(1) 11 2 9 3) 7 4 12

If 6x* —xy:2xy—y*=6:1, the find x:y ?
() 3:2 (2) 5:2 3) 3:5 4 1:3
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AU : AR TR 99id Jaeh=ai-1 Udeiel 3caTed fa9Tsiia T HTAETIHTr A1 = e s
Tl U940 6. 118, 119 & 120 = I =m.

| JHTOT Y IR
1 oft = 10 fogea
M wra
4 [ ] g
80
.{E 60
% 40
L
20
L
0 2012 2013 - 2014 - 2015 r
Y- i
118.  hIvreaT If WTqr=aT IcUTeAT™ Wehel YA Haid SITEd gid ?
(1) 2012 (2) 2013 3) 2014 (4) 2015
119. T8 HUEH 3cdTed fehd! foreed omar ?
(1) 375 2) 71.25 (3) 33.75 4) 4125
120. TG SIhEl IcUTed fohet TR ?
(1)  4737% (2) 4832 % (3) 52.63% 4) 5420 %
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Note for Q. 118, Q. 119 and Q. 120

The yield of some crop is taken by the farmers during last four years is shown, by the divided bar
diagram. Observe the graph of divided bar diagram and answer the Q. 118, Q. 119 and Q. 120.

| Scale
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11cm = 10 Quintals
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118. In which year percentage of yield of a Rice is maximum?
(1) 2012 (2) 2013 (3) 2014 (4) 2015

119. What is the average yield of Wheat in quintals?
(1) 375 (2) 71.25 (3) 33.75 (4) 41.25

120. What is a percentage of yield of Wheat?
(1) 4737% (2) 4832 % (3) 52.63% (4) 5420 %

Q.B. Series - 702 Telugu/Maths-Science (Set - A) 25 of 32



121. U ol Yoehe 8 km =Tt WAl AT ek IThe 6 km el o e fareema femet 2

(1) 14 km (2) 2km (3) 10 km (4) 4km
122.  STcgfufem sffeursesal e STHU=T THUT VRN H& 3.

(1) s (2) 6 (3) 4 (4) 2
123. e TATIHE TEAT 7.

(1) @ (2) = (3) dwmmE (4) ¥

124. SATE SI Ueheh <hIvId ?

(1) fsa. (2) A (3) m/s? (4) N/m?
125. URGHMATET ATEYTH Uh 7 3.
(1) regfufeEm (2) d= (3) W@ (4) =
126. B It T SEIdE 916 .
(1) Affea (2) foeferm (3) wERREHE (4) oiafafees sma
127. 5 Kg I%qHM SOV @l o 15 Kg. m/s 378, &1 a&qet 7ifast 3 31T
(1) 20 9= (2) 75sga (3) 3sgw (4) 22.5sga
128. 3TshA (Alkene) & 9= g3 3R,
( 1 ) CnHzn (2) CnH2n+2 (3 ) CnHznfz (4> CnHZHH
129. A qENTHE P AT IR A< T8 TR FH=T AT I
(1) wFeet (2) Tt (3) W et (4) THERE
130. == e LT .
(1) = (2) omm (3) =i (4) =
131. LPG 7ot sfie@uamEd i fiasaen yared =t RN
(1) foo=ta (2) 3% (3) offaem (4) sfra A
132. THSG TSI 1.
(1) =1 grEt for il g (2) T ARG Ao HE e
(3) AT ASt I S ATes (4) M g AT AT At
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

A man travels 8 km due east and then 6 km due north. What is the magnitude of his displacement?

(1) 14 km (2) 2km (3) 10 km (4) 4 km
Total number of atoms in a molecule of aluminium oxide is

1 5 2) 6 3) 4 4 2

Water vascular system is present in .

(1)  sponge (2) fish (3) starfish (4) cockroach
What is the SI unit of weight?

(1) Kg (2) Newton (3) m/s? 4) N/m?
Essential constituent of amalgum is

(1)  aluminium (2) copper (3) mercury (4) silver

The plant harmone which inhibits growth of plant is

(1) auxins (2) gibberllins (3) cytokinins (4) abscissic acid
The momentum of a body of mass 5kg is 15 Kg. m/s.

Its kinetic energy is

(1) 20 Joules (2) 75 Joules (3) 3 Joules (4) 22.5 Joules
General formula of Alkene is

() CH, @) CH,, () CH,, @ CH,,

The common passage meant for transporting urine and sperms in human male is ........ .

(1)  Ureter (2)  Urethra 3)

The intensity of sound depends upon
(1) note (2) amplitude 3)

The substance added to detect leakage of LPG is

(1)  methanol (2)
(3) acetone 4)

Homologous organs have
(1)  same structure & same functions (2)

(3) different structure & different functions 4)

Vas deferens (4) Seminal vesicle
timbre (4) tone
ethane

ethyl mercapton

same structure & different functions

same functions & different structure.
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133.

134.

13S.

136.

137.

138.

139.

140.

141.

142.

143.

eI Al = Aeforgy FRUTAT.

(1) g4 (2) uewrfE Hex

(3) g (4) skl TEA

Grefletiehl 3Waedi ATaaTss v ?

(1) CaO (2) Na0 (3) ZnO (4) MgO
ey vergtean st Srofiyd SEom fae 7 IR

(1) feafm (2) <mrEd (3) SRS (4) A
10A fagaum o

(1) 10JC! (2) 10 VC (3) 10 Cs™ (4) 10 Ws™!
Ca? el fordlt seotare 3TEdiet ?

(1) 20 (2) 18 (3) 22 (4) 19

HE=AT VAT HRTGR HIEehal STA(al, Tehl ¥ M 91au cardl foham PRI shea Sram ¢
(1) ufeass (2) srEfeash
(3) eSS (4) TgAfETSH |q

Teh oIl g IR = HEd WweTehl Wigdl. ol s¥edl <1 STeTSIT gtgat Sidea-t 2 HeheHal T
gEU ufdeal 4 HehgHat Uehdl. ST el 336 ms ! A 9TH Yo Hid FHA T AT aF el AR
forct ?

(1) 2016 m (2) 1008 m (3) 1080 m (4) 1800 m
Jregitgl el g1 T YSId=A Ugreild STHUT=AT Ul H&AT E9.
(1) 1737w (2) 1 fercinm (3) 1% (4) 1=

WIAAIh! hivd RNA Fald dg[ 394 ?
(1) t—RNA (2) m-RNA (3) r—RNA (4) p-RNA

Teh TohTsl fortur shream fauer &fe Wd 3TITdl il nfedrdid 379erda shivr fendl STsmen 318 ?
(1) 180° (2) 90° (3) 0° (4) 45°

I e 9 ITEd.
(1) H,0 s H,0 (2) KI 3 1,
(3) CH,=for CH, (4) Na'afor HO

Q.B. Series - 702 Telugu/Maths-Science (Set - A) 28 of 32



133.

134.

13S.

136.

137.

138.

139.

140.

141.

142.

143.

The point at the centre of a lens on principal axis is called as

(1) pole (2) optical centre

(3) focus (4) centre of curvature

Which of the following is amphoteric oxide?
(1) CaO (2) NaO 3) ZnO (4) MgO

The enzyme responsible for fat digestion is

(1)  trypsin (2) lipase (3) amylase (4) pepsin

An electric current of 10A is the same as .
(1) 10 JC! 2) 10vC! (3) 10Cs'! 4) 10 Ws'!

How many electrons are present in Ca’" ion?
() 20 (2) 18 3) 22 4 19

Which part of the brain controls the actions like riding a bicycle, running along a straight line etc?
(1)  Cerebrum (2) Cerebellum
(3) Medulla oblongata (4) Pons varolli

A man standing between two parallel walls explodes a cracker. He hears first echo after
2 seconds and 2nd echo after 4 seconds. If sound travels with speed 336 ms™' then what is the

distance between two walls?

(1) 2016 m (2) 1008 m (3) 1080 m (4) 1800 m
Avagadro number is the number of particles present in of that substance.
(1) 1 gram (2) 1 kilogram (3) 1 molecule (4) 1 mole

Which one of the following RNA is the smallest?
(1) t—RNA (2) m-RNA (3) r—RNA (4) p—-RNA

A ray of light incident normally on a rectangular glass slab. What will be the value of angle of
refraction?
(1) 180° (2) 90° 3) o° (4) 45°

London forces are present between )
()  H,Oand H,O (2) Kland,
(3) CH,and CH, (4) Na'"and H,O
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144. <8 AR fSamE TRUTATA.

(1) <hipd (2) dfgew (3) e (4) egEfsrem
145.  Seg1 ARGT JTEUt foRaum wRde aTefaeht deaT @ ARG IR BV IS ared.
(1) =W (2) W (3) sMmewE (4) wreHe

146. @Ieicdeh! VAT T 1Y JTTAHRUN Tehid AT 3718 ?
(1) F, Cl, Br (2) Li, Na, K (3) Li, Mg, Ca (4) AL P,Cl

147. WiceliAdshl v 3dl s SEuaTETd! 39Tl qdrd ?

(1) ol srfia (2) i sfire
(3) e e (4) wTwEd AR
148.  3TYST TG AT AT fagaani™ To%d 9 JRarar 7.
(1) fose fogaam smfor 50 Hz (2) yeamadt fag@am i 100 Hz
(3) fese fagauma sfor 100 Hz (4) Yearadt fegasmn enfor 50 Hz
149. <t FAH e AUTshaT hed Tt o TR Hiam.
(1) =it g (2) T frae
(3) ol ke e g (4) T
150. 71 feam Sfoes e fg’ revE Aol wwaTd Al
(1) Tty 7 (2) = 16
(3) e 12 (4) @ 16
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144.

145.

146.

147.

148.

149.

150.

Rod shaped bacteria are called
(1)  coccus (2) bacillus (3) spirillum (4) vibrio

When current flowing through the wire is increased by four times then heat produced by wire is

increased by

(1)  four times (2) two times (3) eight times (4) sixteen times

Which of the following sets belongs to the same period of modern periodic table?
(1) FECLBr (2) Li,Na, K (3) Li, Mg, Ca 4 ALPCI

Which of the following tissues helps in the secretion of saliva?
(1)  Glandular epithelium (2) Columnar epithelium
(3)  Squamous epithelium (4) Cuboidal epithelium

The nature & frequency of electric current used in our homes is .
(1)  direct current & 50 Hz (2) alternating current & 100 Hz
(3)  direct current & 100 Hz (4) alternating current & 50 Hz

Bleaching powder is produced by treating chlorine with
(1)  quick lime (2) milk of lime
(3)  dry slaked lime (4) lime stone

‘World Health Day’ is observed on
(1) April 7 (2) April 16
(3) August 12 (4) September 16
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